BIKEFKOMSTBERERER (FR24EE)
(Bi{31:Ba/kg)
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#KHE 17 B(CK) 15 B (K) 12 B(K) SHUEWO[ 14B8CO] HHHCO] 100K 1ISEC)] 11HCO)] 16 HOK] 13HGK[ 12 BCK)
BEFEKE [P DL-134 Tt (0.6) THH (0.6) THH (0.5) THRH (0.5) | g (0.6) | & (0.6) | HRH (0.5) | & H (0.5) | & (0.6) | TR (0.4) | & (0.5) | &t (0.4)
£ 94137 TH&H (05) THRH (06) Tt (0.8) A5 (0.7) | 4R (0.6) | TRt (05) | FiRH (0.6) | A& (0.6) | F4&HH (0.7) | TRt (05) | FiRH (0.1 | £z (0.5)
%K B 16 BH(H) 15 B (k) 11 B(H) 2 BH(H) TR 10HA) 9RO 128 108G 15HEO[ 128C)| 11 BAH)
BREEHSKE [ D L-134 Tt (0.6) THH (0.7) THH(0.7) THH (0.6) | g (0.7) | & (0.4) | TR (0.7) | FHEH (0.6) | & (0.5) [ 4R (0.7) | & (0.5) | &t (0.5)
£ L-137 T2 (06) A5 (0.5) TI&H (06) A5 (0.6) | T4 (0.6) | TR (06) | ARt (0.6) | A& (0.6) | F4&HH (0.6) | TRt (07) | TR (0.6) | £ (0.8)
%K B 17 B(CK) 14 B(H) 12 B(K) SHUEWO[ 148CO] HHHECO] 1080 1ISAEC)] 11HCO)] 16 HOK|] 13HOGK[ 12 BCK)
LEHEKE [P 0L-134 Tt (0.6) THH (0.5) THH(0.7) THH (0.7) | g (0.8) | & (0.6) | R (0.6) | & H (0.6) | & (0.6) | 4R (0.7) | & (0.4) | &t (0.6)
£ 94137 THRH(07) TH&H (06) __| 5 (06) __[FBH 07) | F#5H 06) | FHEH 07) | FHE 0 | FARHE (08) [ FARHE (0. | TR (0.7) | T2t (0.6) | Tk (06)
%K B 17HEO 248C01 158CO)] 21 HBA)| 128EI| 18 H(H) SHUEO[ 14B8CO] HHHCO] 10HOCKO] 18] 11THCO)] 16 HOK|] 1I8HOCGK|] 12 BCK)
HMEBHEKE (£ 0L-134 THH (0.6) | &t (0.6) | A& (0.7) | 4R H (0.6) | & H (0.6) | F#&H (0.8) | A& H (0.5) | A& H (0.7) | & (0.7) | F4&H (0.7) [ FAHRH (0.7) | g (0.5) | & (0.7) | 4R (0.6) | FHEH (0.7)
£ 9137 T3 (0.8) | T4 (0.7) [ TR (0.8) | ARt (0.8) | A (0.7) | T4z (0.6) | TR (07) | FRH (0.8) | A5 (0.7) | T4z (0.6) [ TR (0.8) | FiRHE (0.7) | A5 (0.6) | F#&HH (0.7) [ FHRH (07)
%K H HHOKO[ 17 B0 SRCK[ 15 G| 12H8E] 20 BHOK) SHUEWO[ 14B8CO] HHCO] 10HOCKO] 18] 11HCO)] 16 HOK|] 18HGK[ 12 BCK)
KIL#EKSE |22 DL-134 THH (0.8) | & (0.6) | A& (0.7) [ 4R H (0.6) | & H (0.5) | F#&H (0.7) | F4&H (0.7) | & H (0.6) | g (0.5) | F4&H (0.7) [ FHRH (0.6) | g (0.5) | F#&H (0.5) | AR (0.7) | FHEH (0.7)
£ L-137 A5 (0.7) | FH&H (0.7) [ TR (06) | FiEH (0.7 | A5 (0.6) | T4z (0.6) | TRt (07) | FRHE (0.7) | A5 (0.7) | T4z (0.5) [ TR (0.6) | FiRH (0.6) | A5 (0.8) [ FA&HH (0.7) [ FiRH (07)
%K B 16 BH(H) 14 B(H) 11 B(H) 2H(B)|] 18HKA)] 108 H) 9RO 128 108G 15HEO[ 128C)| 11 BAH)
BREEFKE [0 L-134 Tt (0.6) THH (0.6) THH(0.7) TR (0.7) | g (0.7) | & (0.6) | TR (0.6) | & (0.6) | & (0.5) [ 4R (0.7) | F&H (0.7) | &t (0.6)
£ 9137 TH2H (06) __| & (06) I ESETOD) __[FBHE 07) | Tt 07) | FHEH (08) | FHE (06) | F4RHE (06) [ FARHE (0.6) | TR (0.6) | T2 (0.8) | F#%H (06)
%K B 9H(A)| 16 H(H) 7HA)| 21 BA) 5 B[ 11 HA) 9 H(A) 6 H(H) 4 B (K 2 H(R) 5 H(A) 3 H(A) 7H(R) 4 H(RH) 5 B (K)
BHAEKE [£20L-134 T (0.5) | & (0.6) | & (0.6) | 4R (0.7) | & H (0.5) | F#&H (0.7) | A& H (0.6) | & H (0.6) | FigH (0.5) | F4&H (0.8) [ AHRH (0.6) | g (0.7) | F#&H (0.6) | 4R (0.6) | T H (0.6)
£ 9137 Zt5H (0.6) | FARH (0.7) [ TR (07) | AR (0. | A5 (0.7) | FH&HH (0.7) | TRt (0.6) | TRt (0.6) | A5t (0.8) | T4z (0.6) [ TR (05) | TR (0.6) | A5t (0.5) | T4z (0.6) | T4z (05)
#KHE 9 H(A) 7H(R) 5 B () 9 H(H) 6 H(H) 4 HK) 2 B(CK) 5 BH(A) 3 H(A) 7H(H) 4 H(A) 5 B (K)
EMFKE |[ELDL-134 Tt (0.6) THH (0.7) THHi (0.8) THH (0.8) | FiEH (0.4) | & (0.5) | TR (0.6) | & (0.7) | & (0.7) | 4R H (0.5) | F&H (0.7) | & (0.7)
£ 9137 THH(07) TH&H (06) TH&H (05) A (0.7 [ FH&H 0.7) [ TR (07) | FEH (0.6) | A& (0.6) | F4&H (0.4) | TRt (08) | TR (0.8) | FA&HH (0.7)
KB 4ABH0K] 10 BCK 2 H(K) 8 H(K) 5 HC)[ 15 BE)|[ 10 HCK) 7HCK) 4 B (K 1BH) 6 H(K) 4 B (K 8 H(K) 5 H(K) 4 8B(H)
BIE5KE (£ 0L-134 THH (0.6) | & (0.7) | & (0.7) [ 4R H (0.6) | & H (0.7) | F#&H (0.6) | A& H (0.5) | FHEH (0.7) | g (0.7) | F4&H (0.6) | AR (0.7) | FigH (0.6) | & (0.8) | 4R (0.6) | T H (0.6)
£ L-137 A5 (0.6) | FH&HH (0.6) | TR (07) | AR (0. | A5 (0.5) | FH&HH 0.7) [ TR (07) | FRH (0.6) | A (0.5) | F4&HH 0.7) [ TR (0.6) | FiRH (0.8) | A5t (0.6) | T4z (0.6) [ FiRH (07)
#KHE 9 H(A) 7H(R) 4H(H) 9 H(H 6 H(H) 3 H(A) 2 B(CK) 5 H(H 3 H(AH) 7H(H) 4 H(A) 5 B (K)
2IEKE (£ 0L-134 THH (0.7) T H (0.6) THH (0.7) THH (0.7) | g (0.6) | & (0.6) | TR (0.6) | & (0.5) | & (0.7) | 4R H (0.5) | F&H (0.7) | & (0.7)
£ L-137 T2 (06) TH&H (06) TH&H (05) A (0.7 | FH&H 0.7) [ TR (07) | FEH (0.7) | A& H (0.7 | T4z (0.8) | iRt (07) | FiEH (0. | £ (0.8)
#KHE 10 B () 8 H () 5 B () 10 B () 780K 4 H() 1A 6 B () 4 H(K) 8 H () 5 B (CK) 4 H(R)
2EmEEKE[ D L-134 Tt (0.6) THH (04) THH (0.5) TR (0.6) | g (0.6) | & (0.6) | SR (0.7) | & H (0.6) | & (0.7) [ 4R (0.7) | F&H (0.6) | &t (0.4)
£ L-137 T (06) TH&H (05) TH&H (06) A5 (0.6) | T4 (0.6) [ TR (06) | FiEHE (0.8) | A& (0.0 | F4&H (0.7) [ TRt (06) | Rt (0.6) | FA&HH (0.7)
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